Worksheet 10 Year 5 22.6.20

How do we use methods?

1.621,098 + 382,730 =

2.748,022—- 183,279 =

3.1224 x9 =

4.9318+4 =

5.389,021 + 4289 =

6.27,099 - 2718=

7.299x9 =

8.5823 +4 =

9. Brian was writing a book and he wrote 23410 words in the first month
and 32109 words in the second month. How many words did his book
have altogether?

10. James is 1950mm tall. Tommy is 1745mm tall. How much taller is
James?

11. 4 friends find some treasure and they share the £5000 reward equally.
How much will each friend get?

12. 16 classes of 15 pupils are in school. How many children in total?

USE THE SQUARED PAPER FOR YOUR WORKINGS OUT









